N4 GALVANIZED 2 RAIL

129'-0" - Pay limits go

to end of rail

129" 4")PAY LIMITS ITEM 525.33

LIMITS GUARDRAIL
APPROACH SECTION

BOX BEAM (S3608B)
(typical BOTH ENDS)

23 -0” 23 —-11%" 23 —11%" 23 117" 23 —11%" 9’ —10)"
D) 2 62 62D e 62 @3
GAP (typ)
4" EXP GAP—)[ e — 4" EXP GAP
{ ™ T T T ™ T T T T N - N T N A | —
i ! I = e = — = e — e —
1'-6" 7'-0’ 14 SPACES @ 8 —0" = 112" —0" (HORIZONTALLY, ALONG FACE OF RAIL) 7'=0" 1'—-63:
LOOKING AT TRAFFIC FACE OF RAILING
FACING NORTHEAST OR SOUTHWEST FROM CENTERLINE OF ROAD
No Exception Taken T‘ 7
_X Make Correction as Noted LININTERNATIONAL
Submit Specified ltem
BILL OF MATERIAL Revise and Resubmit as No
BOTH SIDES OF BRIDGE — Rejected
Checking is for general compliance with the design concept of the project and gene
aty mk Descripfion spec. compliance with the information given in the contract documents only. Any action ¢
34 BRIDGE RAILING POSTWEX 25 x Z2.375° 0AH WITH 1 x 10x 14 BASE PLAJE @LV} AT0% gr 50 is not an approval and is subject to the requirements of the plans and specification:
action shown on a specific item shall not indicate the checking of an assembly of w
1: il L:ff IUBE (FOR &t Ri’"‘* HSS7x3x fjg x 1?-”%'”&%‘"3"‘!?;’; *;g:%‘éss i 22 Aiﬁi’i’:&é%‘; i";‘g: 9:? the item is a component. Contractor is solely responsible for: dimensions which sh
SPLICE TUBE FOR&E RAL) HSSIx 2 x 18 » TR0 * = = = ELy) g confirmed and correlated at the job site, fabrication processes, techniques of const
z Hi  |RAIL TUBE NS5 8 x4 X 5/16 x 23 £ OAL —Fi splice 1 end. EX® spice 1 end @LV; 00 g B safety precautions; and coordination of its work with that of all other trades and the
B H2  |RAJL TUBE HSS 8x 4 x 518 x 23 £-11.750 in OAL - FIX splice both snds BLV} AS00 gr B satisfactory performance of its work.
2 H3 RAJIL TUBE HSS 8x £ x 518 x §#-10.500jn OAL - FiXsplice 1 end, EXP splice 1 end (5L} ASGGgrB Dan|e| S MyerS
Reviewed By, Date; 08/07/2014 ITEM 525.33 BRIDGE RAILING GALVANIZED 2 RAIL BOX BEAM = 259 LF
z Hi R&L TUBE HSS 4 x4 x /4 x 23 f QAL - FB{splice 1 end, EXP splice 1 and BLV) AS00 gr B
I3 HZ RAIL TUBE HSS § x4 x 144 x 23 # - 11.750 in OAL - Fix splics both ends GLV} AS00 or B
2z H3 RAIL TUBE HSS 6 x4 x 144 x §ft - 10.500 in OAL - FIX splice 1 end, £XP splice 1 end {31V} AE0Y gr B H | G HWAY SAF E-ﬂ-Y C O R P
24 ANCHOR SPACER PLATE PL 9.375x 13.000 x 8378 ATFOG gr 28
135 ANCHGR STUD DBL ENE PART THREAD - 1° DI& x 12,008 w# 2.250°THD EACH ERB (GLV: AL4T GLASTONBURY, CT
272 HEAVY HEXRUT 1°(GLV; AE5€2 OH 860—-633—9445
135 ROURD WASHER (SAE - 1"DIA SHALL IGLV} F438
136 AN N T GALY 582 DH ITEM 525.33 BRIDGE RAILING, GALVANIZED 2 RAIL BOX BEAM (S-3604) F CERTIFIED )
%]
135 ROUND HEAD POST BOLY slut o wiench head - no shoulder 24 DIAX & LG, FULL BGDY @LW; £44% 1 A3ZE5 TOWN OF (HYDE PARK, )VERMONT < FABRICATOR i
138 LOCK HUT 36" (GLV} A582 DH VT. ROUTE 15 (MINOR ARTERIAL) BRIDGE #42
128 ROUNE WA AE) U BLY) £z LAMOILLE COUNTY STP CULV(26) e J03 1o
&0 HEX HEAD BOLY 987 D& x 178" LG (BLV} A3ZE 2 O O 7
80 ROUNED WASHER (SAE ; 887 (GLWV} F438 GENERAL CONTRACTOR
34 BEARING PAD 8.1257 THICK x10.000 x 14.000 (4EOPREKE 803 durn +/-10} aashto M 251 — - = SHEET NO.
0 [Initial submittal "”l%sléﬁ |SUB CONTRACTOR VT REC 7 of 3
No. R ks "Date
> . DRAWN | cuch% ’ DATE | SCALE Isrzs
REVISIONS — APPLIES TO SET MKT 07-14-14 NONE D



dmyers
ShopDrawingReviewBlank

dmyers
Typewritten Text
Daniel S. Myers

dmyers
Typewritten Text
X

dmyers
Ellipse

dmyers
Text Box
129'-0"  -  Pay limits go to end of rail


¢ RAIL TUBE SPLICE OR, 1'-6" £ 8'=0" MAX. | NOTES:
RAIL EXPANSION JOINT | | |
i i | | 1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525.
iiaint 1 ik + . + 2. PRIOR TO GALVANIZING, ALL EXPOSED CUT OR SHEARED EDGES SHALL BE
| | | | | | ROUNDED TO A 1/16” RADIUS AND BE FREE OF BURRS.
e R T oL L "
| | | | | | | | 14.000 3. ALL POSTS SHALL BE SET NORMAL TO GRADE.
E:fIiffj T i T 10.000 4. SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO (2) RAIL
1 - i . T S : POSTS AND PREFERABLY TO AT LEAST FOUR (4) POSTS.
| . I ' | : | S| © =~ © - RAIL_POST 7
[ : | : o ol g 5. RAIL TUBE EXPANSION JOINT SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE
, . ! ! | 2508 HOLES —f—— |5l END OF AN INTEGRAL ABUTMENT BRIDGE AND AT ALL SUPERSTRUCTURE EXPANSION
| | | | T~ ©| o JOINTS. EXPANSION JOINT WIDTH SHALL BE 4” AT 45'F AND WILL BE ADJUSTED IN
/ i 1 i (4) TYP. N —— @ 7/16 THE FIELD BY THE ENGINEER FOR OTHER TEMPERATURES.
i /| 6" MIN | 7.000 | BASE WELD DETAIL 6. HOLES IN RAILS FOR RAIL TUBE ATTACHMENT SHALL BE FIELD—DRILLED. HOLES
& EXP. JOINT 176" MIN. CONSTRUCTION JOINT e S— SHALL BE COATED WITH AND APPROVED ZINC—RICH PAINT DURING INSTALLATION.
1" PLATE
BRIDGE RAILING ELEVATION /ZbDFT%%NiES(;Néi\i%'l_lGOHRmGTLTRUJS SHALL BE TIGHTENED TO A SNUG FIT AND GIVEN AN
POST AND BASE PLATE
8. RAIL TUBES SHALL BE ATTACHED USING 3/4” FULL DIAMETER BODY ASTM A449
ROUND HEAD BOLTS INSERTED THROUGH THE FACE OF THE TUBE. HOLES IN POSTS
© SHALL BE 1/16" LARGER THAN THE BOLT SIZE.
o~
6.000 0.375 5 9. ANY BENDING OR CURVING OF RAIL SHALL BE DONE IN A FABRICATION PLANT IN
_ : :L ACCORDANCE WITH SUBMITTED PROCEDURES.
_HHH@ """"""" T i % 10. THE MINIMUM DISTANCE FROM A POST TO AN EXPANSION JOINT SHALL BE SUCH
; 0,125 SLOT—a— RAIL TUBES TO MAINTAIN MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END
1 750 oo HSS 8 x 4 x 5/16 (TOP) OF THE SLAB, OR TO THE EXPANSION JOINT RECESS POUR, IF ONE IS USED.
MIN. THREAD HSS 4 x 4 x 1/4 (BOTTOM) , 11. A DELINEATOR (SEE VAOT STANDARD DRAWING G—1 FOR DETAILS) SHALL BE
1%
3/4” DIA. A449 - INSTALLED AT NEAREST POST TO 30 FT SPACING. WHITE IS TO BE INSTALLED ON THE
. 7% 6%, 47, 6" , . = DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ON THE
ROUND HEAD BOLT e 1 F;/éﬁ SAlt'OAL%Ag’HS%ﬂ 1% 0 DRIVER'S LEFT. PAYMENT SHALL BE INCIDENTAL TO OTHER ITEMS.
(WITH WASHER AND PREVAILING TORQUE TYPE LOCK NUT) ! ~e |
(SEE NOTE #8) | (4) TYP. i , § 5 12. THIS RAILING MEETS THE REQURIEMENTS FOR A TL—4 SERVICE LEVEL.
2 | |
ONLY FULL DIAMETER BODY BOLTS WILL BE ALLOWED. W6x25 ! <+ 4 N —
n | | N i MATERIALS
[} rﬁ)lw ! — M ] :(_O RAIL TUBES . .citiiieiei ettt ASTM A500 GRADE B OR ASTM A501
o & & | . | RAIL POSTS Al ....ASTM A709/A709M, GRADE 50
- H 9 al ) — ALL OTHER SHAPES AND PLATE! ASTM A709/A709M, GARDE 36
%E o~ ‘ 7 e HOLE FOR/K_”-t;I I o ANCHOR STUDS.ocovsrverrecvermrrone . ASTM A449
[©] " 1 - P 16 . ALL OTHER BOLTS (UNLESS NOTED).. M164, TYPE1
£Q 1" BASE | X 2w REFLECTOR . ~ ( )
- PLATE | 1#« — ATTACHMENT © NUTS FOR AASHTO M164 BOLTS AND FOR ANCHOR STUDS SHALL COMPLY WITH
13.000 N% HEAVY HEX NUT | : ) : . AASTHO M291 (ASTM A563).
N AND WASHER (TYP) B
6.500 /—S.OOO¢ HOLE =) . WASHERS SHALL COMPLY WITH AASHTO M293 (ASTM F436) SPECIFCATIONS.
e ~
(TYP') | : i § o ;, : 1/8" PAD SHALL COMPLY WITH STANDARD SPECIFICATION SUBSECTION 731.01 OR
Bl ! — e [ 1  S— 751.02.
N ® ® <
© >'_— o | | — RAIL POSTS AND BASE PLATES SHALL BE TESTED FOR IMPACT PROPERTIES IN
<+ |~ ﬁ ﬁ 8 i i ACCORDANCE WITH ASTM A370 CHARPY IMPACT TESTING USING TYPE A SPECIMEN.
I ™ N . .
3/8" THICK PLATE_~ | e . | | ?TEY?)JAMB T
® e} 4 . TYPICAL SECTION ELEVATION
: £3-——3/8" ANCHOR PLATE E—
1.0626 HOLES 10.000 B ¢ 1" DA
(4) TYP.
THREADED HEAVY HEX NUT (TYP) =113
STUDS —112" EXP SPLICE TUBE
ANCHOR PLATE =
1'-8" SPLICE TUBE
wlo2" o w 1n 1» Ll
RAIL POST ANCHORAGE 27|% 4 2 %2 4 %82
27|27y 4T 4T 4 4" (272 1/2"¢ DRAIN HOLE | | |
A N W N I 1 %
% o | © f x © o | J % |
_______ e | I
I 1 »
3/4”¢ HOLES IN RALL | 1/2" splice joint 1-1/8" x 3-1/2" SLOTTED HOLES 4~ EXP JOINT /2'¢ DRAIN HOLE
HSS 7 x 3 x 3/8 FOR 5/8 x 1-3/4" HEX BOLTS IN RAIL FOR 5/8 x 1-3/4" HEX BOLT
TOP SPLICE TUBE w/ PIPE SPACER
T R FIXED SPLICE JOINT DETAIL EXPANSION SPLICE DETAIL
BOTTOM VIEW BOTTOM VIEW
,./— NUT (OUTER
HSS 3 x 3 x 5/16 HOLES ONLY) H|GHWAY SAFETY CORP
- BOTTOM SPLICE TUBE NUT (OUTER
~ . ’/_ HOLES ONLY) |_— TACK—WELD GLASTONBURY, CT
NUT 860-633-9445
R | . . ITEM 525. AILING, GALVAN -
- {%; TACK ,\\?,UETLD ) DN 3/4% x 1/2" LONG TEM 525.33 BRIDGE RAILING, GALVANIZED 2 RAIL BOX BEAM (5-360A) SCERTIFIED
S | i SCH. 40 STEEL PIPE SPACER TOWN OF HYDE PARK, VERMONT << FABRICATOR
[ , VT. ROUTE 15 (MINOR ARTERIAL) BRIDGE #42
. ; 5/8"9 TAPPED HOLE IN SPLICE TUBE
3" 5 5/8"¢ TAPPED HOLE IN SPLICE TUBE & AND/1 1/8" x 'C’ SLOT IN RAIL TUBE FOR LAMOILLE COUNTY  STP CULV(26)
3/4"¢ HOLE IN RAIL TUBE FOR BOLT & BOLT AND PLAIN HARDENED WASHER 20017
PLAIN HARDENED WASHER x
RAIL TUBE SPLICE SECTION VT Rec "2 o 3
FIXED SPLICE JOINT SECTION EXPANSION JOINT SECTION
DRAWN CHECKED DATE SCALE SIZE
MKT 07-14-14 ‘ NONE D




NOTES:

4.000 1. PAYMENT FOR GUARDRAIL APPROACH SECTION — GALVANIZED 2 RAIL, SHALL
3.375 0.125 x 1.000 x 1.000 TAB INCLUDE THE TERMINAL CONNECTOR, THE CONNECTION PLATE, THE DEFLECTOR
BRIDGE RAIL LIMITS PAY LIMITS BRIDGE APPROACH SECTION 2 RAIL = 29'—1" - PLATE, RAIL, POSTS, BLOCKS AND ATTACHMENT HARDWARE.
T 2. ALL APPROACH RAIL SPLICES SHALL BE LAPPED IN THE DIRECTION OF TRAFFIC
ol w» i (typ) FLOW.
10 WOOD POSTS 8 ":} 7] I_+_|— 3. TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL BE
. = : !
i 46> 25 FOSI3 x 8200 LONG i wel ~ ' &AL&/NEH% gﬁt& THE SAME AS THOSE OF THE BRIDGE RAIL UNLESS OTHERWISE NOTED.
| MK-WP2 MK—-WP3
WB1 L ) ] 4. APPROACH RAIL BOLTS SHALL BE ASTM A307 GRADE A AND NUTS SHALL BE
POST #1 POST #2 POST #3 POST #4 0.062 AASHTO M291 (ASTM 563 GRADE A OR BETTER (GALVANIZED). WASHERS SHALL BE
I, T T T
ro=—==e ST 1 w82 w3 END CAP (8)(4) EHDLCTE ?é‘\ﬁ(JEZL)D TOP SPLICE BAR TO FIT BEND. USE COMPLETE PENETRATION WELD
=©| § 0.187 x 4.000 x 8.000 (A709 gr 36)
FACE OF RAIL END CAPS (GALVANIZED) 23.750_OAl
. L
FACE OF CURB TOP AND BOTTOM RAIL PLAN
11.875
TERMINAL CONNECTOR 4.000 /Q?_< |
3500 | 0125 x 1.000 x 1.000 TAB
j=]
A o 2
g g L 3 B
g N
491 L
T_o 3 SPACES ® 2'-2" = &'—6" . 2 4 DOUBLE NESTED 12 GAGE THRIE BEAM (12'—6") 6'—3" TRANSITION SECTION W-—BEAM GUARDRAIL 12 GAGE (ROADWAY ITEM) Include set J %ﬁg;
W-BEAM TO THRIE BEAM 10 GAGE, 6—3" POST SPACING TYPICA 0.062 __{
CL SPLICE ‘ ¢ ) ) ¢ CING TYPICAL) screw per Std. PLATE L——S‘E%‘éi
I _ qrgln " qn " dw b1
R 6 SPACES © 16" = 9'-4} Y e o5 END CAP__ (4x4)
! (B A 0.187 x 4.000 x 4.000 (A709 gr 36) ANGLED SPLICE DETAIL
| v v LAP _SECTIONS HSS 7 x 3 x 3/8 — FOR UPPER RAIL SPLICE
' IN DIRECTION OF TRAFFIC
| | 2.. (typ2) , - h TERMINAL CONNECTOR SEE BRIDGE RAIL SHEET FOR DETAIL ON LOWER RAIL SPLICE TUBE
| N e _
Jf el 1o ol o o € S5 ! f e -
o | [l lo of ] [l e ] b - - = R = =t
5 L ! ! N A [ G R : I = e =
Tt Qo HEO 0 0 00 ofoif[60 ¢ 1 [ 1l 1] le =1% = = = = = =T ol o
~ 4" EXP ! I I e HEEH F =L = T = =
GAP_| ! ! ! | |
! | | :
F) o /] | BILL OF MATERIAL
CL LAST— / ] ’
BROGE POST I DEFLECTOR PLATE (B | N Qty mk Description Spec.
N APPROACH RAIL ELEVATION 4 01 W6x25 APPROACH POST - #1 x 8-0" OAL (GALV) :;gggrgg
BEND LINE (%" RADIUS; GRIND EDGES 4 02 W6x25 APPROACH POST - #2 x  8-0" OAL (GALV) gr
LEADING END (RIGHT) IS SHOWN US:‘_\ OF PLATE NEAR BEND LINE BEFORE BENDING) 1 03 |W6x25 APPROACH POST-#3 x 80" OAL (GALV) ,1/4" A708 gr 50
DEPARTURE END (LEFT) SIMILAR BUT OPPPOSITE HAND = 4 04 [W6x25 APPROACH POST-#4 x 80" OAL (GALY) /. A709 gr 50
0-375 THICK PLATE. (GALVANIZED) 2 UPPER RAIL APPROACH TUBE HSS 8 x 4 x 5116 9-4.000" w/ 3.500 SLOTS FOR 4" EXP GAP (GALV) AB00 gr B
6.500 , 4.000 2000 |_1 437 4 LOWER RAIL APPROACH TUBE HSS 4 x 4 xX(5/16)x 9-4.000" w/ 3.500 SLOTS FOR 4" EXP GAP (GALV) A500 gr B
R orooR | 2-8 8 To) | 4 CONNECTION PLATE PL 0.375" x 20.000" X 27.000" (GALV) A708 gr 36
6" x 8" WOOD POST i“\" < N 2 DEFLECTOR PLATE (RIGHT) PL 0.375 x 4.000 x 13.375 (GALV) A708 gr 36
& g . i % 0.937 x 1.500 SLOTTED HOLE 2 DEFLECTOR PLATE (LEFT) PL 0.375 x 4.000 x 13.375 (GALV) AT09 gr 36
3/4" % 2-1/2" SLOTIED HOLES g 1 /2" 13.500 4 END CAP FOR 8x4 TUBE 0.187 THICK PLATE 8.000 X 4.000 w/ WELDED TABS (GALV) A709 gr 36
io 18 HOLES (g) ~ ) LCCATONS A5 SHOWN 1" x 2" DIAGONAL FLAT PATTERN LENGTH 2 END CAP FOR 4x4 TUBE 0.187 THICK PLATE 4.000 x 4.000 w/ WELDED TABS (GALV) AT09 gr 36
$I | _ LOCATIONS (typ) . f}gﬁfg&%ﬁg () 4 (ANGLED) SPLICE TUBE (EXPANSION) FOR 8x4 UPPER RAIL HSS 7x 3 X 3/8 x 1-11.750" OAL (GALY) A500 grB
=L 0w ] yP DEFLECTOR PLATE 4 SPLICE TUBE (EXPANSION) FOR 4x4 LOWER RAIL HSS 3 3 x 5/16 x_1-11.750" OAL (GALV) A500 gr B
1{ w (s hS) i 27.000 0.375 x 4.000 x 13.500 (A709 gr 36)
1z o e J\\ 2|1 > RIGHT HAND APPROACH SHOWN — LEFT HAND BENT OPPOSITE 32 WOOD POST (WP1)6 x 8x 70" TIMBER
SIS © .
VARIES | S 5l |e o o : b 8.000 12750 125 32 WOOD BLOCKOUT (WB1) 6 X 8 X 16" TIMBER
. % ~ o 4 WOOD POST (WP2) 6x 8 X 70" TIMBER
° APPROACH CURB L o | 2 4000, 4000 4 WOOD BLOCKOUT (WB2) 6 x 8 X 1-6" TIMBER
~ (IF REQUIRED) S le o o _ STEEL POST CHART 4 WOOD POST(WP3) 6x 8 x 70" TIMBER
5/8" POST BOLT ~ " ( 153) LSS § 1.000 CHAMFER\Y 4 WOOD BLOCKOUT (WB3)6 x 8 x 12" TIMBER
1'~8" LONG WITH PLATE T =24 21 2 No. L
°
HEX HUT & ROUND. WASHER 2" 0 8 4 THRIE FLAT LIP BRIDGE SHOE (MODIFIED) 10 GA. GALV aashto M180 B2
© , . o 2 1 | 1'=-3.250" 3 34 1"
5 8" 1'-0 3/4 3 P ~—1© o e e | # 4 THRIE TRANSITION PANEL 6-3" / 31 12" 10 GA. GALV. aashto M180 B2
< ~ g °
g = , B 8 THRIE PANEL 12-6" / 1-6 3/4" 12 GA. GALV. aashto M180 A2
2-6 =l —-———\ 1 g S #2 | 1"=3.000 o o
8 = g 3l 8 3.500
8 - o ° 3 , B r CTRD 92 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 6" LG. (GLV) w/ LOCK NUT & FLAT WASHER A449
2 1'-2.687
TER);A !;L\lljél_(AAscHg IEJ;IOEB%TO R ~ ; #3 ? i 4 ROUND HEAD POST BOLT slot or wrench head - no shoulder 3/4" DIA x 2" LG. (GLV)w/ HEXNUT A449
SECTION A—A gl 44 | 17-2.375" B 8 ROUND HEAD POST BOLT - oval shoulder 5/8" DIA x 1-8" LG. (GALV) w/ DBL RECESS NUT, FLAT WASHER A307
- s000] \ T 68 ROUND HEAD POST BOLT - oval shoulder 5/8” DIA x 1-6" LG. (GALV) w/ DBL RECESS NUT, FLAT WASHER A307
- 1.000¢ HOLE (8) f&igfoxggsw(z) 32 HEX HEAD BOLT 5/8 x 1-3/4" (GALV) w/ FLAT WASHER A325
LOCATIONS  (typ) N\ 1125 5 1375 128 PANEL SPLICE BOLT 5/8 x 1-1/4" (GALV) w/ DOUBLE RECESSED NUT A307
%" ROUND SLOTTED Zﬁd% & 1{‘3;&;, SLOTTED HOLES 76 RECTANGULAR PLATE WASHER 0,187 x 1.750 x 3.000 (GALV) AT09 gr 36
HEAD BOLT x 6" LG. " "
CONNECTION heiD BT SPLICE BOLT (20) TYP. CONNECTION PLATE 32 SPACER PIPE - GALVANIZED 3/4" SCH. 40 x 1/2" LONG (GLV) A53 grB
PLATE 29" x 14" %" " 0.375 x 20.000 x 27.000 (A709 gr 36) N
2 (Sﬁ;TLEgCﬁ%% o X oS woLes 3 — wexz5 posT
A yp 5) LOCATIONS (% v 1n ©
oL / . | | ) R ITEM 621.72 GUARDRAIL APPROACH SECTION, GALVANIZED 2 RAIL BOX BEAM = 4 UNITS
—h - =5 l l 6.000 6.000
L N i s HIGHWAY SAFETY CORP
= = ™~ )
¢t—-—-f= Syt o o : o CL of i g N - GLASTONBURY, CT
%" ROUND HEAD = - e L oo - g l_ ~Nog 9 l ©of ™ J1 18 860-633-9445
BOLT x 2" LONG . W > - )
WITH HEX NUT bﬂ—-—m( 2 e T o) T ! = ; i = g + § + = ITEM 621.72 CUARDRAIL APPROACH, GALVANIZED 2 RAIL BOX BEAM (S-360B) S CERTIFIED
X min, l - I %)
DEFLECTOR PLATE 0 =l 2" ‘4%” | 1 { 1 | | TOWN OF HYDE PARK,)VERMONT = FABRICATOR
) ' 313" 3-14 VT. ROUTE 15 (MINOR ARTERIAL)  BRIDGE #42
2 2
» TIMEEQ&NELLCKOUT TlMBE;/‘/BBL%chT WB3 STEEL POST LAMOILLE COUNTY STP CULV(26) Py
73 6 X8 X 16" 6X8X 16 e e 2007
- [sheer no. |
THRIE TRANS v "5 of 3
SECTION B-B o AL WOOD BLOCK DETAILS
GAUGE (AASHTO M180 B2) MKT L 07-14-14 | NONE ‘ D



dmyers
Ellipse

dmyers
Arrow

dmyers
Text Box
1/4"

dmyers
Ellipse

dmyers
Callout
Include set 
screw per Std.


